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Directions: Show all work in the space provided. If you need more space use the blank backs of the

exam sheets. Be sure that you don’t have answers to any question in more than one place. Answers
without the required work will receive no credit.

Part I: For the following find the indefinite or definite integrals. Leave all answers in simplest form.
[10 points each]

Reference Formulas: You may not need all of these.
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cos“x = 5(1 + cos2x) sin“x = E(l — €c0S2x)
sin?x + cos?x = 1 tan®x = sec?x — 1

a? cos?0 = a? — a?sin?6

a® tan?6 = a?sec?d — a? a? sec?0 = a’tan?8 + a?
2
2 B ~3A i An U2
1 f Loy = Y=Y N & 29
= | = ‘ RS
1 ( X

—
—~

2

i
{
3¢

2
n

2. [ xsin(x? + 1)dx o
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USE PARTIAL FRACTIONS.
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7. [ x?sinx dx
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= "XZCOSX + SZXCOSXAX” ‘ d(*:@dx vs AN X

S XZCCEX + 2( X Sinx — & smxdx
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8. Evaluate the improper integral: j

e *dx Iftheintegral diverges explain why, otherwise give
0
the value of the integral. W .
U S e dx
& ax = e Jo
O m—>teo L
-X
=l (e 1o >

m=> o

| ° >
= |im
W\Q‘fw ‘ \ "

\)
O
+

-

9. Evaluate the improper integral below. If the integral diverges explain why, otherwise give the value
of the integral.

fs 3dx 1MP/LOPE7L SCE  X—2=0 WOHEY X =2 |
2 X=2

S 3
= "'dx
[1m X-2

a=p }
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a=>2*

3\nd + O
e (\lt;;\gof'\n (032"50)
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10. Evaluate the integral f dx using a trigonometric substitution. See the page 2 of this

exam for needed formulas.

LET X = 4866@
<o Cb( — 4‘ SeCé‘éai/)e Cé@

So
SQSxZ—(bdX N SMO%ZG -6 45,@6@&@19@[9
4

S&C@

SINCE _x = 456&@ &5 v @V‘CSQC( A) ~: arccos( A)
= arctan QYFExZ>

TO swmPurEY Eqn@ .

CRSERVE SIOCE zec® = X/é{ ton © = 4 U X*-

SO WwWE HAVE
X =
e }mz 4(2% X2v1b> - 4arcsec (‘%4} L
L‘,

m - 4@@&96 (%>

MAT 126 MT 2 Page 6 of 6



